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Unit 1

I Vocabulary and Structure

Section A Choose the best answer to each question.

1. Are you able to the time for a holiday?

A. afford B. attend
C. affect D. apply
2. The real facing the president-elect was to rebuild the credibility
of the government.
A. symbbl o B. novelty
C. reputation D. challenge

3. Before the attack, an air bombing was carried out with intent to

the enemy defense system.

A. break up B. break away
C. break off D. break down
4. The fantastic progress leaves a deep ____ on the visitors.
A. affection B. impression
C. infection D. sensation

5. This rule can not be ________ every case.
A. applied to ' B. applied of
C. applied in D. applied on
" 6. 1 couldn't catch because of the noise outside.
A. what did the speaker say
B. what said the speaker

C. what was the speaker saying
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D. what the speaker was saying

7. you obey the rules, you will have to suffer the consequences.
A. Until B. If
C. Unless D. Because
8. Most people the union meeting if they had had longer notice of
it.
A. would have attended B. attended
C. would attend D. have attended
9. It Jane and Mary who won the gold medal for the mathematics
| contest.
A. has been B. have been
C. were D. was
10. , he went out to see the film.
A. Doing his work B. His work done
C. His work doing D. To do his work

Section B Fill in the blanks with the proper form of the words given in

the brackets.

11. We always (celebration) in our classroom when new year

comes.
12. The manager has received only one (apply) for the post.
13. His early (arrive) gave everyone a big surprise.
14. This was the most (attract) program they could think of.

15. I sincerely thank you for your (invite) to the birthday party.
16. He is thirsty because he forgot (bring) a drink with him.
17. Nobody ever has any (intend) of hurting your feelings.

18. The number of students in the college (be) small.
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19. The child did not know whether (go) there or not.

20. I received the letter you wrote in (relate) to our meeting.

I Reading Comprehension

Task 1 Read the Jollowing passage and choose the best answer to each
question.

Looking back on my childhood, I am convinced that naturalists are born
but not made. Although we were all brought up in the same way, my
brothers and sisters soon abandoned their pressed flowers and insects. Unlike
them, I had no ear for music and languages. I was not an early reader and
I could not do mental arithmetic.

Before World War I we spent our summer holidays in London. I have
only the dim memory of the house we lived in, of my room and my toys.
Nor do I recall clearly the large family of grandparents, aunts, uncles and
cousins who gathered next door. But I do have a crystal-clear memory of the
dogs, the farm animals, the local birds, and above all, the insects.

I am a naturalist, not a scientist. I have a strong love of the natural
world and my enthusiasm has led me into varied investigations. I love
discussing my favorite topics and enjoy burning the midnight oil while
reading about other people’s observations and discoveries. Then something
happens that brings these observations together in my conscious mind.
Suddenly you fancy you see the answer to the riddle, because it all seems
to fit together. This has resulted in my publishing 300 papers and books,
which some might honor with the title of scientific research.

But curiosity, a keen eye, a good memory and enjoyment of the animal
and plant worlds do not make a scientist; one of the outstanding and

essential qualities required is self-discipline, a quality I lack. A scientist
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requires not only self-discipline but hard training, determination and a goal.
A scientist, up to a point, can be made. A naturalist is born. If you can
combine the two, you get the best of both.
21. The first paragraph tells us the author ' .
A. was interested in flowers and insects in his childhood
B. lost his hearing when he was a child
C. didn’t like his brothers and sisters
D. was born to a naturalist’s family
22. The author can’t remember his relatives clearly because
A. he didn’t live very long with them
B. the family was extremely large
C. he was too young when he lived with them
D. he was fully occupied with observing nature
23. It can be inferred from the passage that the author was
A. a scientist as well as a naturalist
B. a naturalist but not a scientist
C. no more than a born naturalist
D. first of all a scien‘tist
24. The author says that he is a naturalist rather than a scientist probably
because he thinks he
A. has a great «deal of trouble doing mental arithmetic
B. lacks some of the qualities required of a scientist
C. just reads about other people’s observations and discoveries
D. comes up with solutions in a most natural way
25. According to the duthor, a born naturalist should first of all be
A. full of ambition B. knowledgeable
C. full of enthusiasm D. self-disciplined



a RN

Task 2 Read the following passage and choose the best answer to each
question.

Mary and Mike are in their late 20’s, have been married five years, and
are childless. The last time a member of Mary’s family asked, “When are
you going to start a family?” her answer was, “We are a family!”

Mary and Mike belong to a growing number of young married couples
who are deciding not to have children. A recent survey showed that in the
last five years the percentage of wives aged 25 to 29 who did not want
children had almost doubled. What lies behind this decision which seems to
fly in the face of biology and society?
| Perhaps the most publicly outspoken childless couple are Ellen Peck
and her husband William. They are not against parenthood but against the
social pressufe that push people into parenthood whether it is what they
really want or not.

“It’s a life-style choice, ” Ellen says. “ We chose freedom and
spontaneity, privacy and leisure. It’s also a question of where you want to
give your efforts—within your own family or in the larger community. This
generation faces serious questions about the continuity of life on earth as
well as its quality. Our grandchildren may have to buy tickets to see the
last redwoods or line up to get their oxygen ration. There are men who
complain about being caught in a traffic jam for hours on their way home to
their five kids but can’t make the association between the children and the
traffic jam. In a world seriously threatened by the consequences of
overpopulation we’re concerned with making life without children acceptable
and respectable. Too many children are bomn as a result of cultural pressure.
And the results show up in the statistics on divorce and child-abuse.”

26. What does the member of Mary’s family mean by saying “When
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are you going to start a family?”
A. When are you going to have children?
B. When are you going to get married?
C. When are you going to buy a house?
D. When are you going to move to a new house?
27. The number of childless young couple
A. is decreasing B. is increasing
C. has more than doubled D. remains unchanged
28. “To fly in the face of” in the second paragraph means
A. to run into B. to come across
C. to follow D. to go against
29. Which of the following statements is true of the Pecks?
A. They propose that young couples have no children.
B. They urge that family planning be made obligatory.
C. They think that no pressure should be put on young couples who
do not want children.
D. They think that there would be no divorce or child-abuse if young
couples are not pressed into parenthood.
30. Which of the following is NOT a consequence of overpopulation
mentioned in the passage?
A. Traffic jam.
B. The using up of precious natural resources.
C. The lowering of the quality of life.
D. War.

Task 3 Read the following passage and fill in the blanks.
In 2000, overall European electronic industry growth hit 3.3%, "a rate
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that maintained through 2001. “It will start to slow in 2002, and in 2003
it will have fallen to under 2%,” an analyst Robin George said.

The UK’s electronic equipment industry market is ahead of the rest of
Europe in returning the region to a period of net growth. 1999 saw the UK
electronic industry grow as a whole by some 5%. In 2000, though, that
growth started to slow and by 2002 the UK will be the first in Europe to
notice a decline of production in the UK $30 billion in 2000 while sales
was $35 billion. Those figures put the UK at the second position in Western
Europe, slightly ahead of France but running nearly $10 billion behind

Germany for both production and consumption.

The whole European electronic industry:

grew at the rate of 31 in 2001;

will fall to 32 in 2003.

The UK electronic industry:

grew at the rate of 33  in 2000;

will 34 in 2002.

The order of the positions of the countries at Western European

electronic market should be 35

Task 4 Find the items equivalent to those given in Chinese in the table
below.

business publication

buying motive

consumer motivation

catalog

mo oW e

advertising agency



X E R

copyright

electric media

feasibility study

location job

market research
noncommercial advertising
public relation

sound studio

work order

cCzZzErpmT - moQm

sampling

P. nonproduct advertising

Example: (N) TH#BFE (J) mHA
36. () RS () JEAR
37. () "IITHETR ¢ ) %R
38. () XEMW ( ) xR
39. ( ) BT () WX
40. () sPEIERE () WRER

Task 5 Read the following material and answer the questions below.

Swimming
2 pools 1 heated, Olympic length
Month tickets available
Women: Tuesday and Thursday
Men: Monday; Wednesday and Friday
Children: Saturday, August 20, 2005
Family Day: Sunday

Golf
Whole practice course professional
Coaching lessons must be booked
in advance in daytime
Evening practice: minimum age 9

years
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Gymnastics
Maximum age 18 years
Children aged 5-10
Monday and Wednesday
4:00-6:00 p.m.

Tennis
Indoor and outdoor courts
Coaching from beginners to the
advanced, every day—not evenings

Children only Sat. morning

*Bar works on Sunday mornings.

41. When are children allowed to play tennis in Camden Sports Center

according to the advertisement?

On

42. What must you do in order to obtain coaching in golf?

To

43. How many swimming pools are there in the sports center?

during the day time.

44. On which day and at what time can children at the age of 5-10 go to

gymnastics?
At

45. When can you probably go to a bar in the sports center?

On

I Translation

Choose the best translation for sentences numbered 46 to 49 and write your

translation of number 50 on the space given.

46. It is self-evident that the education of the young is very important to

the future of a country.

A AETM, FEANBEEN -TEHENKRKRREEXEEN,
B. BMiZ R, AFEANHEN - ITEROHREXER,
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47.

48.

49.

50.

C. RHE, FEAZHENEXNHARBPEE,

D. MEuEH, BHHEEN BRI RBAEBLE,

Can you tell me which department Mr. Wang is in, and his phone

number?

A. FHRIESLERBNEITH, MEBEESHRESD?

B. ERESRAEREEBNIIT, REMA2BIESHT LIRS

C. R EEAEREEHNIHIT, MILKBEIESHREELD?

D. M ELRERBIFITH, REMAABESHTLIRBIM?

The number of the young people in the United States who can’t read

is incredibly about one in five. |

A REAFLDZ—MARERAN, MAIAREE, BAHEE
Ao

B. XBARRGMZ—WARFERA, T8 A Lid%¥, XESA
ELLEAR I

C. RAFHNMZ —WEEFFEARERILES, XBES AU
BfE.

D. RAF L2 —HERFFAREEIN A, XMEERART
RERY

He insisted on buying another villa, which he had no use for.

A fBBRFFEEL @R, MATFEXEST .

B. i BFEBRBEBARNE T

C. MhBFFEFL—EHE, REMHEHEE,

D. bBWEK—ERBT, X TRERFMBIKERAY,

A foreign bank requires a female secretary. She must have a good

command of both spoken and written English. The requirement for

the shorthand speed is over 100 words per minute at least and that

for the typing speed is over 60 words per minute. Previous
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experience is required (minimum 3 years). Apply with full details,

including recent photographs and details of the past experience, etc.

to 38 Nanjing Road, Shanghai.

IV Writing
Write an Telephone Message according to the information given below.
YL DIBEH Mary 48 CAAR R4 Mr. Jason E—KBIEHE S,

1. XH A : Fashion AR BEEEL (sales manager) Mr. White,

2. kHAfE]: 8 H8 HES 9 &,
3. 5 : Fashion AR F8 A ISHLEF 9L, WHEFEKEE

(China Hotel) 7 FF 2005 4E# /=5 kK fi< (Release Conference),
# & Mr. Jason RiEZ /M, A ¥ Mr. Jason BEEIBIERINRE DS

b
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Telephone Message

Date . Time:. AM. (
P.M. (

From:

To:

() Telephoned
() Call to see you
(

) Wants to see you

Message:

(
(
(

) Please ring
) Will call again
) Urgent

Signed:
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Unit 2

I Vocabulary and Structure

Section A Choose the best answer to each question.

1. We should _____ the cause of failure.
A. analysis B. analyze
C. analogy D. analyst
2. 1 don’t wish to associate myself __ what has been said.
A. in B. from
C. with D. to
3. They are deeply in debt and have no way.
A. involve ‘B. involving
C. be involved D. involved
4. He has used all his money and had to borrow from others.
A to B. out
C. in D. up
5. Westerners bread, milk potatoes and etc.
A. come on B. work on
C. act on D. feed on

6. The days my heart was young and gay are gone.

A. of which B. on which
C. in which D. at which
7. Since the redesign of the assembly line, the productivity .
A. is improved B. improves
C. is improving D. has been improved



